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J1.

(a) (5 points) Find the solution y, to the differential equation:
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(b) (10 points) Solve the initial value problem:
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(a) (5 points) Find the general solution y, = Ciy; + Cayz to the differ-
ential equation:
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(b) (10 points) Use undetermined coefficient or variation of parameters,
find the general solution to the differential equations

y”+y=t+e‘
Ve’ okt
Y s
YRR

\A&**h}‘Lyti'l'p*

'1‘1.-* a.,* f i'u*

Y yet s

-'-—-"'-—-_-—.——

/

\\/ AR TR A R 2R ) i




Q-J-“
.J.
e
|

) -
g PR

s

¢

[



Last six digits of UID:

4. Consider the autonomous equation:

7'@ = y(y — 2)e’
/ (a) (2 points) Find the equilibrium solutions of the above differential
equations. | - '
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e b) (3 points) Determine the stability of the equilibrium solutions.

N
,‘\p.\,‘-. \/- %y‘ 71.'.’_ %r-w
"/}"1' va
o “ ks
Slo) of-ast  otiM

= S Wi X 5.
| W £,-0 | o
(c) (5 points) Prove that if y(t) is a solution and y(0) = 1, then 0 <
y(t) < 2 for all ¢t € (—00,00).
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